Lecture Notes for September 17, 2013
Photochemical reaction for the production of Ozone
Vehicle exhaust  ( ( (sunlight + chemical reactions) ( ( Ozone


   (mixes with)



(produces)
In the troposphere, air temperature generally decreases as you move upward at a rate of 6.5(C for every 1000 meters (or 3.6( F for every 1000 ft).
** Example.  Mt. Lemmon is 6000 ft higher than Tucson.  If air temperature in Tucson is 100° F, estimate the air temperature on Mt Lemmon. 


Temp @ Mt Lemmon = 100° F – (3.6° F/1000 ft)*6000 ft = 78.4° F

Because the air pressure at any point in the atmosphere is determined or caused by the weight of air above that point, just by knowing the air pressure at your location, you can estimate how much of the atmosphere is above and below you by weight.

ELMO. *Pressure can be directly related to weight of air (need this for a hw)
*
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*If you do not know the sea level pressure, use 1013 mb (or 1000 mb) as a good approximation. 
So what can we say about 500 mb pressure level?
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